
 
 
 

Explorer® Balance 
Display Tower Mount Kit  
 
Installation Instructions 

 



 



Explorer® Display Tower Mount Kit 1 
 

 

1. INTRODUCTION 
 
Please read this manual completely before installation and operation. 
 
CAUTION:   

 

READ ALL SAFETY WARNINGS BEFORE INSTALLING, 
MAKING CONNECTIONS, OR SERVICING. FAILURE TO 
COMPLY WITH THESE WARNINGS COULD RESULT IN 
PERSONAL INJURY AND/OR PROPERTY DAMAGE.  
RETAIN ALL INSTRUCTIONS FOR FUTURE REFERENCE. 

 
1.1 Kit Contents 

  

 

Five M5 Screws 
 
Hex Wrench 
 
Tower with Top 
and Foot 

 
2. INSTALLATION 
 
2.1 Safety Precautions  
For safe and dependable operation of this equipment, please comply with 
all safety precautions mentioned in this manual. 
 
Disconnect equipment from mains power supply before installation. 
 



2 Explorer® Display Tower Mount Kit 
 

2.2 Installation procedure 
Follow the steps below. Refer to the Figures when performing these steps. 
 

1  

Make sure Balance is unplugged 
(turned OFF). 
 
 
 

2  

Detach the Display:  
press buttons on both sides to 
disconnect. Then pull Display  
away from base. 

3  
Open the Display:  
press buttons (enlarged in photo),  
on both sides, then lift Display until  
it opens. 
 
 

4 

Open the Display to  
access and release the  
Display Communication Cable. 



Explorer® Display Tower Mount Kit 3 
 

 

5  

 

Release the clip that secures the 
Display Communication Cable:  
press out on both sides, as shown. 

Unplug the Display Communication 
Cable. 
 
 

6  

Un-spool the Display Communication 
Cable from the base.  

7  

Attach Tower to the Base using the 
four M5 screws and wrench 
(supplied).  
Secure the cable as shown: 

1. First, under the cable guide, 
2. Then under the groove in the 

tower base. 
Insert the cable plug in the tower 
base and feed it through the tower. 

 

Tower mount 
M5 screws 

Tower mount 
M5 screws 



4 Explorer® Display Tower Mount Kit 
 

8  

Pull the Display Communication 
Cable through the top of the tower. 
 
 

9  

Position the Display above the 
Tower Platform.  
Insert the posts in the receptacles in 
the Display Base. 
Slide the Display forward as shown, 
to seat it in the Tower platform. 

10  

 

Insert one M5 screw in the Display 
Base to secure it to the Tower 
Platform.  
Use the supplied Hex Wrench to 
tighten the screw. 



Explorer® Display Tower Mount Kit 5 
 

 

 

11  

Insert the cable plug with the security 
clip open, then press the security clip 
into position to secure the cable. 
Route the cable through a groove in 
either side of the Display,  
or from the rear of the Display,  
as preferred. 
Pull excess cable down into the Tower 
for safety. (Best practice: remove slack 
and re-wrap cable around cable 
guides on the bottom of the balance.) 

12  

Re-connect power to the Base.  
Use the Level Assist feature to re-level 
the Balance. (Keep the Tower foot 
raised during this procedure.) 
After leveling the Balance, adjust the 
Tower foot so it supports the Tower 
and is level with the feet of the Base.  

 

13  

To adjust the Display viewing angle: 
• Press in the two Display Adjust 

buttons and move the Display. 
Or… 
• Loosen the knob that secures the 

Tower top and move it. 

 



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Ohaus Corporation 
7 Campus Drive 
Suite 310 
Parsippany, NJ  07054, USA 
Tel:  (973) 377-9000 
Fax: (973) 593-0359 
 
With offices worldwide  
 
 
www.ohaus.com 
 

*83021181* 
 
P/N 83021181 © 2011 Ohaus Corporation, all rights reserved. 
 
Printed in China  


